Installation &
Operation Manual

LRBCL-2030 Series

Ligature-resistant
Solid Surface
Behavioral Healthcare
Corner Lavatory

Table of Contents

Pre-Installation Information ...........ccccceeeeiiiiiiiiiiiiieeeee, 3
LRBC L-2030 Physical DIMeNnsions ............ccccooiiiiiiiniieiec e 4
Mounting DIMEeNSIONS........cccoiiiiiiieeiiiiiiee e 6
Check Contents.......ccuuveiiiiiiie e 7
Required Installation Supplies..........ccocceiiiiiiiiiiiiiiieeens 8
Parts List.......ooooiiiiieie e 9
IN COMPLIANCE Exploded-view Drawing ............cococovevreversererenseneen. 10
WITH A.D.A. 2010 Hardware Identification .............cccooeeeeiieieececceeeee 11
& CBC 2016, 11B Installation INStructions............cooovvveieiiiiiiee e
Step 1: Pedestal Mounting.........c.cccoeviiiieeiiiiiieennns 12
Step 2: Drain Assembly #380280..........ccccccceveernennns 13
PATENTED: D1,010,077 Step 3a: Pneumatic Push Button Faucet
MouNting ......evveieeiie e 14
Step 3b: Piezo Electronic Push Button Faucet
Mounting ....c.oeveveiiiiie e 15
Step 3c: Plug-in / Battery Operated Infrared
Faucet Mounting .........coccovvveiiiiiiiiiiie, 16
Step 4: Basin and Pedestal Assembly ..................... 17
Step 5: Final Assembly ........ccooiiiiiiiiiiiiiieeee 18
In-wall Mounting Carfier........ccccceiiiiiieii e 19
JACO Fitting Instructions ...........cccoceeiiiiiii e 21
Adjustable Mixing Valve Installation..............cc.cccceees 22
Infrared Lavatory Sensor Installation .............ccccccoeeenee
Plug-in Infrared Sensor ..........cccccoviiiieieiiiiieee e 23
Battery Operated Infrared Sensor ........cccccccceeeeeneees 24
Faucet Part NUMbers ..........oooviiiiiiiiic e, 25
TroublesShOOtiNG........ocuviiiii i
INfrared SENSOIS .....coceveeeiieiceee e 27
Electronic Valves.........cccccoove v 28
Pneumatic Valves .........ccccco i 29
Care and MaintenanCe.........c..ceeeveeiiiciiiiiiiieeeee e 30
Drawings ...oceeeeee e
Willoughby Industries, Inc. Valve DetailS .....ooiieeeee e, 31
5105 West 78th Street Push Button Details ..o 35
Indianapolis, IN 46268 WaATTANTY ... 37
Toll Free: (800) 428-4065
Local: (317) 875-0830
Fax: (317) 875-0837
WILLOUGHBY WWW.Wi”OUghby-ind.COfn MADE IN THE U.S.A. e—

Rev. 12/2023



Behavioral Health Corner Lavatory
LRBCL-2030 Series Installation & Operation Manual

(Page left intentionally blank)

Willoughby Industries, Inc. TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 e FAX (317) 875-0837
Rev. 12/2023 www.willoughby-ind.com Page 2




Behavioral Health Corner Lavatory
LRBCL-2030 Series Installation & Operation Manual

Pre-Installation Information

Installation notice!

Check Rough-In location PRIOR to installation

Flush lines thoroughly PRIOR to hook-up
When installing the Willoughby Industries' LRBCL-2030 Series lavatory deck systems:
Before step 1 of the installation instructions, ensure that rough-ins are in the correct location.

The valve assembly, including the faucet, MUST NOT BE connected until after

all lines have been flushed to remove the small particles of debris that are inherent
with new construction projects and all chemicals that are used in flushing are purged
from the system.

Chemicals used in flushing plumbing systems can attack the internal components of
the valve and faucet and severely damage them, so any flushing of the system must
be followed by a full flushing with pure water to clear any harsh chemicals remaining
in the system. Debris in the system if allowed to enter the valve assembly and faucet
can cause poor performance or failure.

Again DO NOT attempt to connect the valve assembly and faucet until after all
flushing is complete and pure water is the only media that will be passing through the
system. Damage to the valve assembly or faucet caused by harsh chemicals or
debris will not be covered by the manufacturer's warranty.

Installation notice!

Check Rough-In location PRIOR to installation

Flush lines thoroughly PRIOR to hook-up

Willoughby Industries, Inc. TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 e FAX (317) 875-0837
Rev. 12/2023 www.willoughby-ind.com Page 3




Behavioral Health Corner Lavatory
LRBCL-2030 Series Installation & Operation Manual

Physical Dimensions- LRBCL-2030-R

WITH A.D.A. 2010

AQUASURF SOLID SURFACE COLORS:

[ 1BN) BONE 18-7/8" x
1(GW) GLACIER WHITE Z ?j |

[

[ 1(GG) GREY GRANITE
[ 1(SS) SANDSTONE
[
[

1(WG) WHITE GRANITE

1(BG) BLACK GRANITE K
FAUCET OPTIONS:
[ 1(LRFC-PBH) LIG.-RESISTANT PNEUMATIC PUSH BUTTON —— 8-1/2" (-
[ 1(LRFC-PZPB) LIG.-RESISTANT PIEZO ELECTRONIC PUSH BUTTON* .

[ 1(LRFC-IR) LIG.-RESISTANT PLUG-IN INFRARED SENSOR*
[ 1(LRFC-BO)  LIG.-RESISTANT BATTERY OPERATED INFRARED SENSOR
[ 1(NV) LESS FAUCET (SPECIFY HOLE SIZE AND LOCATION

TS 7 355"
(34" MAX ADA) 29-1/2" {
¢!
Willoughby Industries, Inc. TOLL FREE (800) 428-4065 « LOCAL (317) 875-0830 » FAX (317) 875-0837

Rev. 12/2023 www.willoughby-ind.com Page 4



Behavioral Health Corner Lavatory
LRBCL-2030 Series

Installation & Operation Manual

Physical Dimensions- LRBCL-2030-L

IN COMPLIANCE
WITH A.D.A. 2010

18-1/2"

% 18-7/8"
i
U
8-1/2" f—
20"
3 [
29-1/2"

[PATENTED: D1,010,077 ]

AQUASURF SOLID SURFACE COLORS:

[ 1(BN) BONE
[ 1(GW) GLACIER WHITE
[ 1(6G) GREY GRANITE
[ 1(SS) SANDSTONE

[ 1(WG) WHITE GRANITE
[ 1(BG) BLACK GRANITE

FAUCET OPTIONS:
[ 1(LRFC-PBH) LIG.-RESISTANT PNEUMATIC PUSH BUTTON
[ ]1(LRFC-PZPB) LIG.-RESISTANT PIEZO ELECTRONIC PUSH BUTTON*
[ ]1(LRFC-IR) LIG.-RESISTANT PLUG-IN INFRARED SENSOR*
[ 1(LRFC-BO) LIG.-RESISTANT BATTERY OPERATED INFRARED SENSOR

[ 1(NV) LESS FAUCET (SPECIFY HOLE SIZE AND LOCATION
16-3/8"
33-3/4"
(34" MAX ADA)

Willoughby Industries, Inc.

TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 e FAX (317) 875-0837

Rev. 12/2023

www.willoughby-ind.com

Page 5



Behavioral Health Corner Lavatory
LRBCL-2030 Series

Installation & Operation Manual

Mounting Dimensions- LRBCL-2030

** NOTE: ADEQUATE WALL BACKING
AND MOUNTING HARDWARE

RIGHT HAND BOWL SHOWN
BY OTHERS

LEFT HAND BOWL SYMMETRICALLY OPPOSITE

26 3/8"

110VAC GFCI REQUIRED WITH ELECTRICAL FAUCET
13 1/4"

OPTIONS*, PROVIDE 1" SPACE BETWEEN PERIMETER
/ OF RECEPTACLE AND FIXTURE BRACKET
RECOMMENDED

(GFCI BY OTHERS, CONSULT LOCAL ELECTRICAL CODES)
— 4 |——
@1-1/2" DRAI

ROUGH-IN \

** (4) 3/8" X 1/2"
SIDE MOUNTING SLOTS
I | ﬁ
t t T
o o o =]
1 i ! 2
o D @
<\I )
? =1 (=} (=}
— 2" [
\ RECOMMENDED .
30 7/8" ] 2" | 1/2" H & C WATER i 313/4 o .
SUPPLIES (BY OTHERS) 29178 REE. ™ 5
2578 - 24 10" 26
207/8" 20 3/4"
**(10) 3/8" X 12"
REAR MOUNTING SLOTS
FINISHED FLOOR

Willoughby Industries, Inc.
Rev. 12/2023

TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 ¢ FAX (317) 875-0837
www.willoughby-ind.com

Page 6



Behavioral Health Corner Lavatory
LRBCL-2030 Series Installation & Operation Manual

Check Contents

» Separate all parts from packaging and make sure all parts are accounted for before discarding
any packaging material. If any parts are missing, do not attempt to install LRBCL-2030 Behavioral
Health Lavatory until you obtain the missing parts.

NOTE: Before beginning installation, all supply, drain and waste piping for the
LRBCL-2030 must be completed according to specified rough-ins. If you have not received
rough-in details, please contact Willoughby Industries, Inc. (800) 428-4065

1 IMPORTANT: These installation instructions
cover all of the Willoughby Industries Inc.
LRBCL-2030 Behavioral Health Lavatory Series.
Simply omit the steps which do not apply to the
model you are installing.

1 IMPORTANT: Flush all the water supply lines
before making connections.

Willoughby Industries, Inc. TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 e FAX (317) 875-0837
Rev. 12/2023 www.willoughby-ind.com Page 7




Behavioral Health Corner Lavatory

LRBCL-2030 Series

Installation & Operation Manual

Required Installation Supplies (By others)

* Proper mounting hardware

* Hardware for waste oulet connections

o (Gasket for waste outlet connection

» Shims (for installation if necessary)

* Supply piping

* Non-pick caulk

» Silicone caulk

' WARNING: Willoughby Industries does not assume any
responsibility for personal injury or damage to equipment
due to an improperly installed LRBCL-2030 Behavioral
Health Lavatory.

Willoughby Industries, Inc.

TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 e FAX (317) 875-0837

Rev. 12/2023

www.willoughby-ind.com

Page 8



Behavioral Health Corner Lavatory

LRBCL-2030 Series

Installation & Operation Manual

Parts List

ITEM DESCRIPTION PART NUMBER
PNEUMATIC PUSH BUTTON FAUCET ASSEMBLY LRFC-PBK
1 PIEZO ELECTRONIC PUSH BUTTON FAUCET ASSEMBLY | LRFC-PZK
PNEU. PUSH BUTTON FAUCET ASSEMBLY LRFC-IR
PNEU. PUSH BUTTON FAUCET ASSEMBLY LRFC-BO

LAVATORY BASIN - RIGHT

801603R-XX-INV*

2 LAVATORY BASIN - LEFT 801603L-XX-INV*

3 | DRAIN ASSEMBLY, LRBCL-2030 380280

4 PEDESTAL ASSEMBLY RIGHT, LRBCL-2030 S301898
PEDESTAL ASSEMBLY LEFT, LRBCL-2030 S301891

5 |1/4-20 x 3/4" SECURITY SCREW 4502SSN

5 SHROUD RIGHT S301902
SHROUD LEFT S301668

7 |1/4-20 x 1/2" SECURITY SCREW 4500NSS

8 |1/4-20 x 1" FLAT WASHER 600650

9 |FRONT BRACE S301896

*XX REPRESENTS THE LAVATORY COLOR

WHITE GRANITE=WG
SAND STONE=SS
GRAY GRANITE=GG
BLACK GRANITE=BG
GLACIER WHITE=GW
BONE=B

Willoughby Industries, Inc.

TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 e FAX (317) 875-0837

Rev. 12/2023

www.willoughby-ind.com

Page 9



Behavioral Health Corner Lavatory
LRBCL-2030 Series Installation & Operation Manual

Exploded-view Drawing

Willoughby Industries, Inc. TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 e FAX (317) 875-0837
Rev. 12/2023 www.willoughby-ind.com Page 10




Behavioral Health Corner Lavatory

LRBCL-2030 Series

Installation & Operation Manual

Hardware Identification

Yoy

1/4-20 x 3/4"
SECURITY SCREW
4502SSN

%

1/4-20 x 1/2"
SECURITY SCREW
4500NSS

T-27
PINNED TORX BIT

1/4-20 x 1"
FLAT WASHER
600650

4" WIRE TIE WRAP

4 WAY WIRE TIE BASE

701206

Willoughby Industries, Inc.

TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 e FAX (317) 875-0837

Rev. 12/2023

www.willoughby-ind.com

Page 11



Behavioral Health Corner Lavatory
LRBCL-2030 Series Installation & Operation Manual

Installation Instructions

Step 1: Pedestal Mounting
Parts supplied:

* Pedestal
* Mounting Bracket

Note: Hardware for wall anchoring by others

1.) Using the mounting dimensions measure and mark the holes for the wall anchors on both the back
and side wall.

Note: Pedestal must be level for fixture to drain properly.

2.) Secure pedestal to the wall using all through slots for secure mounting (adequate wall anchoring
hardware and support by others).

Willoughby Industries, Inc. TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 e FAX (317) 875-0837
Rev. 12/2023 www.willoughby-ind.com Page 12




Behavioral Health Corner Lavatory
LRBCL-2030 Series Installation & Operation Manual

Installation Instructions (cont.)

Step 2: Drain Assembly #380280

Parts/Materials supplied: #380278 LIGATURE RESISTANT
LAV. DRAIN

 Solid Surface basin

* Drain assembly #3325/:1”% Fél/i%?(EEﬁ

#380273 DRAIN
WASHER

#600043
CAST NUT

#380275 THREADED

TAILPIECE |

1.) Insert drain spud into wash basin using silicone caulk (supplied by others).

2.) From beneath basin, thread the washers & locknut onto the drain spud and secure locknut
against wash basin.

2.) The wash basin is ready for plumbing and/or electrical installation®.
If you have Pnumatic push button faucet, go to Step 3a.

If you have Piezo electronic push button faucet, go to Step 3b.
If you have Plug-in / Battery Operated infrared sensor faucet, go to Step 3c.

TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 e FAX (317) 875-0837

Willoughby Industries, Inc.
Page 13

Rev. 12/2023

www.willoughby-ind.com



Behavioral Health Corner Lavatory
LRBCL-2030 Series Installation & Operation Manual

Installation Instructions (cont.)

Step 3a: Pneumatic Push Button Faucet Mounting

1.) Unscrew the (2) 1/4-20 nuts on the all thread rod and take off the lock washers and centering
washers.

2.) Unscrew the (4) 8-32 screws from the mounting plate and remove the plate from the bottom of the
faucet.

3.) Connect the included 1/8" Red and Blue tubing to the barbs of the push buttons.

4.) Replace the mounting plate onto the bottom of the faucet, feeding the (2) tubes from the push
button through the center hole. Use the (4) 8-32 screws to secure the plate to the mounting tabs of
the faucet.

5.) Make sure the deck gasket for the faucet is on the faucet and both all-thread rods, and pneumatic
tubing for the push buttons are through the gasket.

Note: Faucet can be mounted without the gasket, but the bottom edge will need to be
sealed with caulking (non-pick is recommended).

6.) From the underside of the basin, align the (2) 1/4-20 all-thread rods with the mounting holes,
making sure the pneumatic tubing for both push buttons are through the center hole of the fixture.

7.) Install the centering washers, lock washers and nuts onto the all-thread rods (all included). Tighten
the nuts until the faucet is secure.

Caution: Do not leave bowl on the pedestal unsupported, as it may fall and cause damage or
personal injury.

Willoughby Industries, Inc. TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 e FAX (317) 875-0837
Rev. 12/2023 www.willoughby-ind.com Page 14




Behavioral Health Corner Lavatory
LRBCL-2030 Series Installation & Operation Manual

Installation Instructions (cont.)

Step 3b: Piezo Electronic Push Button Faucet Mounting

1.) Unscrew the (2) 1/4-20 nuts on the all thread rod and take off the lock washers and centering
washers.

2.) Unscrew the (4) 8-32 screws from the mounting plate and remove the plate from the bottom of the
faucet.

3.) Replace the mounting plate onto the bottom of the faucet, feeding the (2) wires from the push
buttons through the center hole. Use the (4) 8-32 screws to secure the plate to the mounting tabs
of the faucet.

4.) Make sure the deck gasket for the faucet is on the faucet and both all-thread rods, and wires for
the push buttons are through the gasket.

Note: Faucet can be mounted without the gasket, but the bottom edge will need to be
sealed with caulking (non-pick is recommended).

5.) From the underside of the fixture, align the (2) 1/4-20 all-thread rods with the mounting holes,
making sure the wiring for both push buttons are through the center hole of the fixture.

6.) Install the centering washers, lock washers and nuts onto the all-thread rods (all included).
Tighten the nuts until the faucet is secure.

7.) Connect each push button to the controller there controller.

Caution: Do not leave bowl on the pedestal unsupported, as it may fall and cause damage or
personal injury.

Willoughby Industries, Inc. TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 e FAX (317) 875-0837
Rev. 12/2023 www.willoughby-ind.com Page 15




Behavioral Health Corner Lavatory
LRBCL-2030 Series Installation & Operation Manual

Installation Instructions (cont.)

Step 3c: Plug-in & Battery Operated Infrared Faucet Mounting

1.) Unscrew the (2) 1/4-20 nuts on the all thread rod and take off the lock washers and centering
washers.

2.) Make sure the deck gasket for the faucet is on the faucet and both all-thread rods, PTC fitting, and
wires for the IR valve are through the gasket.

Note: Faucet can be mounted with or without the gasket and the
bottom edge sealed with non-pick caulking.

3.) From the underside of the fixture, align the (2) 1/4-20 all-thread rods with the mounting holes,
making sure the PTC fitting and IR sensor wires are going through the central hole.

4.) Place the centering washer, lock washer and thread the nut onto the all-thread rods (all included).
Tighten the nuts down.

Caution: Do not leave bowl on the pedestal unsupported, as it may fall and cause damage or
personal injury.

Willoughby Industries, Inc. TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 e FAX (317) 875-0837
Rev. 12/2023 www.willoughby-ind.com Page 16




Behavioral Health Corner Lavatory
LRBCL-2030 Series

Installation Instructions (cont.)

Step 4: Basin and Pedestal Assembly

Installation & Operation Manual

Caution: Do not leave bowl on
the pedestal unsupported, as it
may fall and cause damage or
personal injury.

xxxxx
RITY

FRONT BRACE W/
DOUBLE SIDED TAPE

1.) Before placing the basin onto the pedestal secure the front brace into place with (2) 1/4-20 x 3/4"
security screws and peel the protective strip off the double sided tape.

2.) Line up the brass threaded inserts on the bottom of the basin with the 4 holes on the top of the
pedestal, secure with (4) 1/4-20 x 1/2" security screws.

TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 e FAX (317) 875-0837

Willoughby Industries, Inc.
Page 17

Rev. 12/2023

www.willoughby-ind.com



Behavioral Health Corner Lavatory
LRBCL-2030 Series Installation & Operation Manual

Installation Instructions (cont.)

Step 5: Final Assembly

1.) Make all final plumbing connections to the drain and valve inlets. The lavatory is supplied
with flex hoses (flex hoses have shut-off valves attached that should be connected to the

supply inlets).
2.) Once all of the connections in the actuator housings are complete, locate the transformer if need.

NOTE: PLUG-IN TRANSFORMER (IF NEEDED) MUST BE USED WITH A GROUND FAULT
INTERRUPT (GFCI) RECEPTACLE TO HELP PREVENT POSSIBLE ELECTRICAL SHOCK.

Note: For infrared systems see the start-up procedures and troubleshooting guide in the
back of this manual.

4.) Test the system for leaks (both supply and waste).

5.) If TMV is being used set desired temperature with the adjustable mixing valve (see instruction
near the back of this manual).

6.) Using non-pick caulk run a bead down across the back and wall side of the basin and along the
front under side of the basin and pedastal as shown.

7.) Secure the shroud in place with (6) 3/4" security screws.

NON-PICK CAULK

NON-PICK CAULK\\

Willoughby Industries, Inc. TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 e FAX (317) 875-0837
Rev. 12/2023 www.willoughby-ind.com Page 18




Behavioral Health Corner Lavatory
LRBCL-2030 Series Installation & Operation Manual

Optional Universal In-wall Mounting Carrier
Installation

1.) Secure the in-wall mounting carrier to the floor with anchors (provided by others).

2.) Using the provided 3/4" security screws secure the pedestal to the mounting carrier.

UNIVERSAL IN-WALL CARRIER

(12) 1/4-20 X 3/4" SECURITY SCREWS

PEDESTAL
X
Willoughby Industries, Inc. TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 ¢ FAX (317) 875-0837

Rev. 12/2023 www.willoughby-ind.com Page 19



| Health Corner Lavatory

LRBCL-2030 Series

viora

Beha

Installation & Operation Manual

2401 .| €zoroL o3s

143y

QYVANVYLS | €2/50/0L O3S,

AZY <
‘oo | NoisInTy

Wo'g33s .,

Chb gwog| bt
v 321|

SY 1d30X3

Q310N AGHONOTIIM

19¥0-0€0CH-M

# 1dvd

ATENISSY ONILNNOW HIIMYVD ‘0€02-108941

0530/ 311

: S3ONVYIT0L
euelpu| ‘sijodeuelpu|
*duJ ‘sarnsnpuy AqU3noiIAL

W8/L-LE

‘434

S31V1d ONILNNOW

\N_OO._H_ Y0€L 'VOL

<
P>

We/l-€

1S3ND3Y NOdN 3719VIIVAV SLINS3Y 1S31 AvOol
'ATAIdO¥™Ud AITTVLSNI NIHM FOVHVIdd ¥0
I9VINVA LNINVINYId LNOHLIM “S81000°L 40
avo1 NNWIXVIN V LH30ddNS T1IM AT9INISSY
3JHL ‘0£02-10941 #13A0ON AYOLVAVT HLIM
NOILONrNOJ NI d3sN SI 3311y VvI SIHL NIHM

W WZIL-9L
|
.8/.-02
.8/1-G2
.8/2-0€
| . .
'WSSY 3LV 1dMOvd
0£02-109417 ¥O04
SLNN QT13M 0Z-ub/L M -
JILEL
SIT10H 9L/SD (8)
WZIL6L
ft————————— ) ———
. 8/6-97 —————————— =
. 27/ ————=

(SINIWIHINDIY

HOHONY Y04 Z 133HS
339) (SYIHLO A9 SHOHONY)
S3T0H YOHONY .2/L @ (8)

ulh-L

WC/L-€

W0€

Wa/l-le

Bae)

URUNONN [fem-ul “ONIMVIA

TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 e FAX (317) 875-0837

Willoughby Industries, Inc.

Page 20

www.willoughby-ind.com

Rev. 12/2023



Behavioral Health Corner Lavatory
LRBCL-2030 Series Installation & Operation Manual

JACO Fitting Instruction

O

Note: It is not necessary to disassemble this fitting for application. Merely insert tubing to stop and
tighten seal.

1. Cut tubing end squarely and remove the internal burrs.

2. Insert the tubing through the back of the nut all the way through the nut assembly to the tube stop
in the fitting body (see illustration). If the tubing does not enter the nut easily, loosen the nut one turn
and reinsert the tubing all the way to the tube stop in the fitting body.

3. Turn the nut hand tight.

4. Wrench tighten the nut 1%z - 2 turns.

5. All nuts must be retightened when the system reaches projected operating temperature.

Note: To ensure proper assembly, tubing MUST be fully inserted into the fitting body all the way to
the tube stop.

Note: Squeaking sound when tightening nut is normal. For pipe threaded connections, Teflon tape
must be used.

-4— PG Nut
Ferrule Nut Fitting Body /

Plastic
Gripper

i Tube Tube Stop

Willoughby Industries, Inc. TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 e FAX (317) 875-0837
Rev. 12/2023 www.willoughby-ind.com Page 21




Behavioral Health Corner Lavatory
LRBCL-2030 Series

Installation & Operation Manual

Adjustable Mixing Valve Installation

=o\W==I=%

IS-P-e480

HydroGuard® T/P Series e480
Lavatory Combination Valve

Installation Instructions

To Install m

NOTE: Installation should be in accordance with accepted

tion.

point-of-use as possible.
2. Connect hot and cold water to the supply valve using 1/2”
NPT or 3/8" compression connections.

or 3/8” compression connections.

4. Turn on hot and cold water supplies. If any leaks are
observed, tighten connections as necessary to stop leaks
before proceeding.

5. Turn on fixture and allow water to flow for 2 minutes.
Measure water temperature at outlet. If water is not at
desired temperature, adjust as necessary.

Specifications m

e480-00 1/2" NPT (Rough Bronze)
e480-01 1/2" NPT (Rough Chrome)
€480-10 .ooovrveeereerceeesseeeensssens 3/8"Compression (Rough Bronze)
e480-11 3/8'"Compression (Rough Chrome)

Capacity: 4.0 gpm (15.0 I/m)
Approach Temperature:.........oo..comeees 5°F (2.8°C) above set pt.
Max. Operating Pressure:......occenmnneeens 125psi (862 kpa)
Max. Static Pressure: 125psi (862 kpa)
Max. Hot Water Temperature: ...........oc...coeeeeervennne. 180°F (82°C)

Temp. Adjustment Range:

ASSE Type T/P: 95— 110°F (43-48°C)
ASSE Type T: 80 — 120°F (27-49°C)
0.5 gpm (2.2 I/m)

Minimum Flow:

Checks: Integral
Construction: Cast Brass Body
Certified: CSA B125
Listing ASSE 1016-1996 (Type T/P)

ASSE 1070

CALIFORNIA PROPOSITION 65 WARNING

WARNING: This product contains chemicals
known to the State of California to cause cancer
and birth defects or other reproductive harm.

(California law requires this warning to be given
to customers in the State of California.)

For more information: www.watts.com/prop65

plumbing practices. Flush all piping thoroughly before installa-

1. Locate a suitable place for the tempering valve. Valve should
be accessible for service and adjustment and as close to the

3. Connect outlet of tempering valve to fixture(s) using 1/2"NPT

Figure 1

Hot Water
Inlet

To Adjust Temperature =

1. Loosen locknut.

2. Turn on fixture and run water for at least two (2) minutes
to allow supply temperature to stabilize.

3. Turn temperature stem counter-clockwise for hotter or
clockwise for colder outlet temperature.

4. Tighten locknut to prevent accidental or unauthorized
temperature adjustment.

5. Re-check outlet temperature.

Repair Kit m

Motor Repair Kit 480-270

Willoughby Industries, Inc.

TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 e FAX (317) 875-0837

Rev. 12/2023

www.willoughby-ind.com

Page 22



Behavioral Health Corner Lavatory
LRBCL-2030 Series

Installation & Operation Manual

Plug-in Infrared Lavatory Sensor Installation

WILLOUGHBY INDUSTRIES

INFRARED
LAVATORY SENSOR

INSTALLATION AND
OPERATION MANUAL

eart: 4 00150

24V AC System Infrared Sensor

DETECTION AND ACTIVATION
- When the sensor detects a user, a slow-flashing
red light appears in the sensor window.

- After 1-2 seconds of detection, the light flashes
rapidly, the sensor immediately activates the
solenoid valve, beginning water flow.

- The valve remains open while the user is detected.

- The valve closes when the user is no longer detected.

- The sensor is set to activate the solenoid valve for a
maximum of 30 seconds before automatically
shutting off.

Note: Sensor range is factory preset to 20";
Optional range adjustment remote available
to adjust range from 1" min. to 30" max.
(SEE FIG. 2).

INSTALLATION AND REPLACEMENT

1) Disconnect the 24V AC power at either the
transformer or fuse box.

2) Remove top cover to expose sensors (SEE FIG. 1)

3) Install the new sensor with arrow pointing upwards.

4) Connect the red male power cable to the female
connector on the sensor (SEE FIG. 3).

5) Connect the black female solenoid cable to the
male connector on the sensor.

6) Replace the top cover removed in Step 2.
7) Reconnect the power.

REAR VIEW

o

SENSOR RANGE
CONTROL BUTTONS

BEAM DIRECTION ARROW ouT

EXTRUDED IN HOUSING 2aVAG PLUG-IN

TRANSFORMER EXTENSION
P/N: 701210
FIG. 1- IR SENSOR CABLE
P/N: 700152-1 IR SENSOR
P/N: 700150
OPTIONAL IR REMOTE (P/N: 700155)
SOLENOID
VALVE

FIG. 2- IR REMOTE

FIG. 3- 24V AC SYSTEM INFRARED ASSEMBLY

W) WILLOUGHBY

COUNT ON US.

1.800.428.4065 TOLL FREE | www.willoughby-ind.com

Willoughby Industries, Inc.

TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 e FAX (317) 875-0837

Rev. 12/2023

www.willoughby-ind.com

Page 23



Behavioral Health Corner Lavatory

LRBCL-2030 Series

Installation & Operation Manual

Batte

Operated Infrared Lavatory Sensor Installation

WILLOUGHBY INDUSTRIES

INFRARED
LAVATORY SENSOR

INSTALLATION AND
OPERATION MANUAL

eart: 4 00250

(BO) Battery Operated Infrared

DETECTION AND ACTIVATION

- When the sensor detects a user, a slow-flashing
red light appears in the sensor window.

- After 1-2 seconds of detection, the light flashes
rapidly, the sensor immediately activates the
latching solenoid valve, beginning water flow.

- The valve remains open while the user is detected.

- The valve closes when the user is no longer detected.

- The sensor is set to activate the latching solenoid
valve for a maximum of 30 seconds before
automatically shutting off.

Note: Sensor range is factory preset to 20";
Optional range adjustment remote available
to adjust range from 1" min. to 30" max.
(SEE FIG. 2).

INSTALLATION AND REPLACEMENT

1) Remove the lavatory top cover to expose the
sensors and battery pack.

2) Disconnect battery pack.

3) Install the new sensor. Make sure the sensor arrow
is pointing up (SEE FIG. 1).

4) Connect the red male power cable to the female
connector on the sensor (SEE FIG. 3).

5) Connect the black female valve coil cable to the
male connector on the sensor (SEE FIG. 3).

6) Replace lavatory top cover removed in Step 1.

7) Reconnect battery pack.

REAR VIEW

BEAM DIRECTION ARROW
EXTRUDED IN HOUSING P/N: 700252

P/N: 700254)

FIG. 1- IR SENSOR

OPTIONAL IR REMOTE (P/N: 700155)

SENSOR RANG
CONTROL BUTTONS

DC BATTERY PACK-

(USES (6) AA BATTERIES-

EXTENSION
CABLE
P/N: 700152-1 IR SENSOR
P/N: 700250

LATCHING
VALVE COIL
P/N: 700251

FIG. 2- IR REMOTE

FIG. 3- BATTERY OPERATED INFRARED ASSEMBLY

W) WILLOUGHBY

COUNT ON US.

1.800.428.4065 TOLL FREE | www.willoughby-ind.com

Willoughby Industries, Inc.

TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 e FAX (317) 875-0837

Rev. 12/2023

www.willoughby-ind.com

Page 24



Behavioral Health Corner Lavatory
LRBCL-2030 Series Installation & Operation Manual

Faucet Part Numbers

LRFC-PZPB

ITEM # PART # DESCRIPTION

703000PB FAUCET BODY, LRFC PB

2 320173LF SPRAY HEAD, LF, SLIM PCA, 0.5GPM

3 S301429 MOUNTING BRACKET ASSEMBLY FOR LRFC-PB

4 701610 SCREW, PHILLIP(FH), SIS, 8-32 3/8"

5 701563 GASKET, LIGATURE RESISTANT PUSH BUTTON FAUCET
6

7

8

o
=1
=<

113805-3 ALL-THREAD ROD, 1/4-20 X 3" LONG

600450 CENTERING WASHER, LRFC

B

800111 WASHER, SPLIT LOCK, ZINC 1/4", S/S

- @ 9 600613N HEX NUT, 1/4-20, STAINLESS STEEL
A 10 320429 TUBE FITTING, ADAPTOR, 3/8 TUBE X 1/4 MPT
@

11 980676 KEY TOOL, INSERT, LRFC
12 E1L21XXIXE VALVE ASSEMBLY ELECTRONIC DUAL TEMP-NFC-LEAD FREE
NOTE: 600523 TUBING NOT SHOWN 13 600523 TUBING, 3/8" OD X 1/4" ID 20" LONG

[ I N I I Y IR ) NG I B G

LRFC-PBH

ITEM # PART # DESCRIPTION
1 703000PB FAUCET BODY, LRFC PB
320173LF SPRAY HEAD, LF, SLIM PCA, 0.5GPM
3 5301429 MOUNTING BRACKET ASSEMBLY FOR LRFC-PB
4 701610 SCREW, PHILLIP(FH), S/S, 8-32 3/8"
5 701563 GASKET, LIGATURE RESISTANT PUSH BUTTON FAUCET
6
7
8

o
=1
<

113805-3 ALL-THREAD ROD, 1/4-20 X 3" LONG

600450 CENTERING WASHER, LRFC

800111 WASHER, SPLIT LOCK, ZINC 1/4", S/S

9 600613N HEX NUT, 1/4-20, STAINLESS STEEL
10 320429 TUBE FITTING, ADAPTOR, 3/8 TUBE X 1/4 MPT
1" 980676 KEY TOOL, INSERT, LRFC
12 PML21XXLXE | VALVE ASSEMBLY PNEU. METERING-DUAL TEMP-NFC-LEAD FREE
NOTE: 600523 TUBING NOT SHOWN 13 600523 TUBING, 3/8" OD X 1/4" ID 20" LONG

Y [ Y Y 1 R 1N SN Y G Y

Willoughby Industries, Inc. TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 e FAX (317) 875-0837
Rev. 12/2023 www.willoughby-ind.com Page 25




Behavioral Health Corner Lavatory
LRBCL-2030 Series Installation & Operation Manual

Faucet Part Numbers

ITEM # PART # DESCRIPTION QTy.
1 703000 FAUCET BODY, LRFC, IR 1
320173LF SPRAY HEAD, LF, SLIM PCA, 0.5GPM 1
3 700150 IR SENSOR, 24V WILLOUGHBY VANDAL PROOF 1
4 701191 NUT, 6-32 HEX STAINLESS STEEL 2
5 600177 WASHER, SPLIT LOCK, S/S, #6 2
6 600178 SCREW, PHILLIP(PH), SIS, 6-32X X 3/8" 2
7 701555 GASKET, IR SENSOR 1
8 $301657 IR SENSOR BACKET FOR LRFC 1
9 600179 SCREW, PHILLIP(PH), S/S, 6-32X X 1/4" 1
10 320429 TUBE FITTING, ADAPTOR, 3/8 TUBE X 1/4 MPT 1
e 11 701556 GASKET, LIGATURE RESISTANT FAUCET 1
12 113805 -3 ALL-THREAD ROD, 1/4-20 X 3" LONG 2
e 13 600450 CENTERING WASHER, LRFC 2
34//@ 14 800111 WASHER, SPLIT LOCK,ZINC 1/4in, S/S 2
15 600613N HEX NUT, 1/4"-20, STAINLESS STEEL 2
16 700156-1 POWER SUPPLY, 1-STATION IR SENSOR, 24V, ADJUSTABLE 1
17 E1L11XXXXE | VALVE ASSY ELECTRONIC SINGLE TEMP - NFC - LEAD FREE 1
18 980676 KEY TOOL, INSERT, LRFC 1
NOTE: 600523 TUBING NOT SHOWN 19 600523 TUBING, 3/8" OD X 1/4" ID 20" LONG 1

600177 WASHER, SPLIT LOCK, Si/S, #6

@ DESCRIPTION
1 703000 FAUCET BODY, LRFC, IR
2 320167LF | SPRAY HEAD, LF, SLIM PCA, 15GPM
0 700250 IR SENSOR, BO 6V WILLOUGHBY VANDAL PROOF
- 701191 NUT, 6-32 HEX STAINLESS STEEL

701555 GASKET, IR SENSOR

5301657 IR SENSOR BACKET FOR LRFC

3
4
5
6 600178 SCREW, PHILLIP(PH), SIS, 6-32X X 3/8"
7
8
9

600179 SCREW, PHILLIP(PH), SIS, 6-32X X 1/4"
10 320429 TUBE FITTING, ADAPTOR, 3/8 TUBE X 1/4 MPT

1

1

1

2

2

2

1

1

1

® 1
® e 11 701556 GASKET, LIGATURE RESISTANT FAUCET 1
“ 12 113805-3 ALL-THREAD ROD, 1/4-20 X 3" LONG 2
13 600450 CENTERING WASHER, LRFC 2

2

2

1

1

1

1

6

1

1

1

1

g‘///@ 14 800111 WASHER, SPLIT LOCK,ZINC 1/4in, S/S
15 600613N HEX NUT, 1/4"-20, STAINLESS STEEL

16 S600675 BATTERY PACK CRADLE

17 701570 2" WIDE VELCRO STRIP, 1" LONG

18 600830 CONNECTOR, 174" FEM, 18-22 AWG, FI

19 700252 BATTERY PACK, DC IR BO VALVE SYSTEM

20 700254 BATTERY, AA

21 700152-1__| CABLE, IR, BLACK, 8, SEALED

22| EBLTIXXXXE | VALVE ASSY, BATTERY OPERATED SINGLE TEMP - NFC - LEAD FREE

23 980676 KEY TOOL, INSERT, LRFC

NOTE: 600523 TUBING NOT SHOWN | _ 24 600523 TUBING, 3/6" OD X 1/4" ID 20" LONG

Willoughby Industries, Inc. TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 e FAX (317) 875-0837
Rev. 12/2023 www.willoughby-ind.com Page 26




Behavioral Health Corner Lavatory
LRBCL-2030 Series Installation & Operation Manual

Troubleshooting - Infrared Sensors

Faucet does not function (red light does not appear when user steps in front of sensor)

A. No powerto sensor. Make certain that power is on. Check transformer leads and connections.
Repair or replace as necessary.

B. Willoughby 700150 IR Sensor not operating. Replace Willoughby 700150 IR Sensor.

. Faucet does not function (red light appears when user steps in front of sensor and solenoid

does not click)

A. Debris in solenoid; disassemble, clean, and flush.

B. Solenoid not wired correctly; check solenoid connections.
C. Solenoid problem; replace solenoid.

No water when activated (valve clicks)
A. Make certain that water is turned on.
B. Valve clogged. Clean or replace filter.

. Very low flow or slow dribble

A. Check supply stop(s); open if closed.

B. Debris in filter; remove, clean, and reinstall.

C. Debris in aerator or spray head; remove, clean and reinstall.
D. Disassemble solenoid; clean and flush.

V. Continues to run (with power on and red light flashing)

A. Non-permanent target in range after user leaves. Remove non-permanent target. If this
target is a new permanent target (i.e., a new wall or partition), turn off 24 volt power for
fifteen (15) seconds. Turn power back on and let the sensor complete start-up mode.

B. Sensor failure; replace sensor.

VI. Continues to run (even with power disconnected)

A. Solenoid valve installed backwards.

B. Debris in solenoid, won'’t close properly; remove operator and clean. Reassemble in the
same manner.

Willoughby Industries, Inc. TOLL FREE (800) 428-4065 ¢« LOCAL (317) 875-0830 e FAX (317) 875-0837

Rev. 12/2023 www.willoughby-ind.com Page 27



Behavioral Health Corner Lavatory
LRBCL-2030 Series Installation & Operation Manual

Troubleshooting - Electronic Valves

The two most common reasons an electronic valve does not operate properly are: (1) lack of
power or (2) lack of water pressure. The following steps should be used as a guide in identifying
the problem of a malfunctioning electronic valve.

I. Lack of power

A. Verify that the 110V GFCI outlet has power

B. Check all connections to ensure they have been made correctly:
1. Cable connecting the valve coil and the timer or IR sensor
2. Cable connecting the timer and the pushbutton (Piezo only)
3. Cable connecting the timing device and the 24VAC transformer
4. The 24VAC transformer and the 110V GFCI outlet

C. If the valve is wired correctly, the solenoid will make a “click” sound indicating that the
valve has been actuated. The electronic valve is actuated by either the piezo pushbutton
or the triggering of the infrared sensor (see the Start-Up Instructions for Infrared Sensors
in this manual).

II. Lack of water pressure
A. Check the supply to the rough-ins
B. Make sure the screwdriver stops are in the open position
C. Water pressure needs to be above 35psi to operate the valve
1. If the water supply pressure is above 35psi but not exiting the valve:
a. Clean any debris from the screen on the inlet side of the solenoid valve body
b. Remove the screws on the valve body and clean any debris from the diaphragm

After all of the above steps have been followed, if there is still no water coming out of the spray
head, there may be a damaged or defective part (see installation notice in the beginning of this
manual).

Willoughby Industries, Inc. TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 e FAX (317) 875-0837
Rev. 12/2023 www.willoughby-ind.com Page 28




Behavioral Health Corner Lavatory
LRBCL-2030 Series Installation & Operation Manual

Troubleshooting - Pneumatic Valves

[.  Valve will not open or deliver water

A. Check the plastic tubing that runs from the pushbutton actuator to the pneumatic valve for
air leaks.

B. Make sure the checkstop on the supply to the valve is fully open. Do not partially close the
checkstop for any reason as it is not a throttling valve. The checkstop should be fully open
(normal operation) or fully closed (when servicing the valve).

C. Close checkstop and then inspect the strainer in the supply line (installed after the
checkstop) to make sure the strainer is not blocked or partially blocked, prohibiting water
flow.

[I. Valve will not shut off

A. Separate valve motor from casting by removing the four (4) #8 screws.

B. Inspect the water diaphragm assembly to see if bypass hole in diaphragm is blocked.
Remove any debris by blowing on diaphragm or using force of air. Do not use any tool
(such as straight pin) to remove any debris. Enlarging the hole will shorten or make for
erratic cycling.

C. Check the metering screw on the timer assembly to make sure the adjustment screw is
not closed too tightly. To reset, back out adjustment screw (counterclockwise) about 1-1/2
turns, and adjust for the desired cycle.

[ll. Valve continues to trickle or partially deliver water after cycle is over
A. Inspect seating area on valve base to make sure no debris, pitting, or scoring is present.
B. Clean seat or replace seat as necessary.
C. Inspect seating area of diaphragm for debris, clean as necessary. If debris has caused
permanent indentations in the rubber, it may have to be replaced.

After all of the above steps have been followed, if there is still no water coming out of the spray
head, there may be a damaged or defective part (see installation notice in the beginning of this

Willoughby Industries, Inc. TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 e FAX (317) 875-0837
Rev. 12/2023 www.willoughby-ind.com Page 29




Behavioral Health Corner Lavatory
LRBCL-2030 Series Installation & Operation Manual

Care and Maintenance

Solid Surface Care

Surfaces may be easily cleaned using conventional cleaning agents such as an ammonia
based liquid cleaner, (glass cleaner).

Dry stains on a matte finish can be removed with a 3M Scotch-Brite gray scouring pad or a mild
abrasive cleaner.

Burns or scorches can be removed by sanding with coarse grit sandpaper followed by finer grit (220)
sandpaper. Follow sanding with a 3M Scotch-Brite gray pad (or equivalent) to match finish of sanding
area to surrounding area. A final buffing may be required on polished surfaces. Accidental nicks or
chips can be repaired with special patch kits available in all colors.

Avoid exposing surfaces to strong chemicals such as acetone's; paint removers and sulfuric acid or
hydrochloric chemical cleaners. Exposure to strong chemicals may result in permanent damage to
surfaces.

Stainless Steel Care

Stainless Steels are basically alloys of iron and chromium and are corrosion resistant. Stainless steel
has a bright surface that is easy to clean and is free from oxides. Therefore, cleaning of stainless
steel is relatively simple and easy if done on a regular basis.

Frequency of cleaning should depend on the rate at which the fixture becomes dirty. Remember that
fresh (soft) deposits of all kinds are relatively easy to remove, while removing older (hard) deposits
are much more difficult. Establish a cleaning SCHEDULE.

Routine cleaning should involve ordinary soap or detergent and water, applied with a sponge, brush
or cloth. Baking soda, borax or any of several non-abrasive commercial cleansing agents can help
hasten the cleaning action. after scrubbing, rinse THOROUGHLY and wipe dry.

DO NOT use common steel wool, scouring pads, scrapers, wire brushes, files or other steel tools to
clean stainless steel. Such items will scratch the surface or leave small particles of iron imbedded in
the surface, which will eventually rust and stain the surface - even appearing as if the stainless itself
was rusting.

Certain chemical compounds, if used on stainless steel, can give the appearance of rust and if
allowed to stand for long periods of time, can pit the surface of even stainless. Products containing
hydrochloric acid, muriatic acid or potassium hydrochloride can ruin the surface.

Willoughby Industries, Inc. TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 e FAX (317) 875-0837
Rev. 12/2023 www.willoughby-ind.com Page 30




Behavioral Health Corner Lavatory

LRBCL-2030 Series Installation & Operation Manual
. w |al-
t__mmﬁeéfg
[e) SAEIN

X &
= o bl il
o N
= < _Ig
a| |« g
3 MR HE
w ] w g S(3
— o o
| w o %n:
= o i} wlols
0 §51e e
% - S ol S
< IE: ofg
15 < 2 L
b4 [ w |z
o Z =
HREEE
ZE 0 =
o nlZ a
[ w|o
< = =
LS5y Xl @
I
a|2|5|5(2 3
wZ|glE|lZl 3
olx|z[<|Q] o
wi=Z 0|0 (ID
L= e =
o|x= £
= Z x
D‘EON 1]
Pl ENY (-
WS~ i}
Z=3u.f =
alxlo|ygl =
> 2
mx%% w
N lw|lD Z
<gn_é&
w .
ol 2
2lsl2f| €
>o\'>0.8 w
[79]
x 2
w | S
MR E
|l|lo|b|lolt <2
<|l~l=9alE = |
ald|eISI8E  EE
= 5|88 E—H
oL|om| oo ©
s <=
Ll
s £
§\—va°g
w =R
= v T
-gE
w
=3
>
=2
<= 8(0g
[l ISR
= S|Z2-0
S <o
- ruo
= uez
3 ol
o
’0 )@) :
m
I
[O]
2
S
2

EXPLODED VIEW

DRAWING: Pneumatic Valve Detail

Willoughby Industries, Inc. TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 e FAX (317) 875-0837
Rev. 12/2023 www.willoughby-ind.com Page 31




3 AGHONOTIIM
133HS A3y = v L3 19NV a310N

1401 ¢2/L2/0L "¥0d < "

s Soovl gy [ a0
QUVANVLS | 22/22/0L 80D g0 | norsinan VIN vl Y - so1dc | SIONVHIIOL
axrxxLz1.3 3344 @va1- 04N - dW3L TYNA DINOYLOTTI ASSY IATVA euelpu] ‘sijodeuelpu @

U] ‘sarisnpuy AQYSNofIAL

# L¥vd ©0S3a/ 31|

Installation & Operation Manual

4 HOLIMS OZ3Id INVLSIS3d 3dNLVOIT | O-61110L L
[4 NOILOINNOO d'I'd 2/ ‘ISOH X314 .02 025086 0l
3 HOLO3INNOD LdN /L X 39N1 .8/€ oLolece 6
8 M3HOS AV3aH X3H 9 3dAL dV1 473S 9L-0L# €€1008 8
3 140d a399N7d LHOIY - AT19IN3ISSY IATVA 113 | 14807086 L
4 S10# ‘ONIY-O 791086 9
3 a3dToOW JI1LSVTd ‘F31 961086 S
4 ANNOY ‘dITO ONIYdS 0¥71086 14
3 140d a399N7d LHOIY - AT9N3ISSY IATVA 113 | 4807086 €
4 ATNISSY dOLSHMOIHO £€81086 4
3 13IMOVHE IATVA ¢TNd ¢05086 3
"ALOD NOILdIYOs3ad # 1dvd # W3l

M3IA d3a01dx3

M3IA A3T19INISSY

A\
,/_%/Vf./m (NMOHS LON) TOHLNOD
./ 0L SAVITHOLIMS 10INNOD

Behavioral Health Corner Lavatory

LRBCL-2030 Series

1€} SAJeA d1uoddIg AYE -ONIMVEd

Page 32

TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 ¢ FAX (317) 875-0837
www.willoughby-ind.com

Willoughby Industries, Inc.

Rev. 12/2023



L4014 0z/0¢/LL VN il —_ Q3LON AGHONOTIIM
n_~_<oz<ww£ Sl/siz 433 omw ”zoMMmm VN JHH v mmm:wéu mm_m_ﬂmwuy @
3344 Av31- 04N - dW3L ITONIS DINOYLOTTI ASSY IATVA euelpu| ‘sijodeuelpu
FXXXX SE o3¢ 3| VU ‘SALDSNPUT AqUSnoIm
L NOILOINNOD d'I'd Z/L “ISOH X314 .02 025086 .
L MOSE13 .8/€ ‘ATGNISSY ONILLIA IATVA V009086 9
4 MIYOS AVIH X3H 9 3dAL dVL 4738 9L-0L# £€1008 g
z ANNOY ‘dIND ONIYS 0v1086 4
L 180d @399N7d LHOIY - ATINISSY IATVA 1L | §d80v086 ¢
L AT9NISSY dOLSHOTHD £81086 z
L 13M0VHE AATVA LN 105086 L
"ALO NOILdI¥OS3a # 18vd # W3l

Installation & Operation Manual

M3IA d3a01dX3

M3INA A319INFSSY

Behavioral Health Corner Lavatory

LRBCL-2030 Series

I1e}aQg aAJeA J1uodld9|3 AV -ONIMVYd

Page 33

TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 ¢ FAX (317) 875-0837
www.willoughby-ind.com

Willoughby Industries, Inc.

Rev. 12/2023



140 b o) 02/0E/LL YN L < ] TV m<D.m_n.__.%n—v,_Xm_ AGHONOTTIM
QYVANVLS | 0Z/0e/LL VN “ORIO|:NOISIAZY VIN ] Y : S3IONVHIT0L
- - ‘ euelpu| ‘sijodeuelpul
IXXXX L1193 | 33494 Av3aT- 04N - dWSL FTONIS d3LVHIdO AYILLVYE ASSY IATVA
o530 5] “2UI *SALDSNPUT £qY3nOIA

NOILOINNOD d'1'4 2/} ‘ISOH X314 .02 025086 L

3

3 MOE13 .8/€ ‘ATGNISSY ONILLIA FATVA V009086 9
4 M3HOS Av3aH X3H 9 3dAL dVL 473S 9L-0L# €€1008 S
4 ANNOY ‘dITO ONIYdS 071086 ¥
2 1¥0d 399N 1d HY ‘a3.LVH3dO AYILLYE ‘ASSY IATVA | Hd9L7086 €
3 ATENISSY dOLSHMOIHO €81086 4
3 13MOVHE IATVA LIND 105086 3

'ALD NOILdIYOs3a # 1dvd # 3Ll

Installation & Operation Manual

M3IA d3a01dXx3d

M3IA 3T19INISSY

Behavioral Health Corner Lavatory

LRBCL-2030 Series

Ile}aq SA|eA pajeladQ Alajjeg A6 -ONIMVAA

Page 34

TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 ¢ FAX (317) 875-0837
www.willoughby-ind.com

Willoughby Industries, Inc.

Rev. 12/2023



1401 EBA €2/5/5 N .oy v ] VY . T ABHONOTIIM
AddVvaNvLs LUSIY 433 g0l nosinay d3LON SY ] Y SIONVHITOL .
YIS0£009 gyvg 334930 06/M LNVLSISTH-THNLYDIT ‘NOLLNE HSNd "NANd AA ,mcm_uc_ sijodeuelpul @
oss0s 3 VU ‘SALSNPUT AqYSnO[IIAL
L GZ90'X ZE-0L# 93006 ‘GYVIISOH ‘ONILLIS 987009 9
L a3aT10W‘ dWNd WOVHHAYIA NOLLNgG HSNd ‘AdOg | VIN90S08E S
L diNNd DILYWN3Nd ‘WOVEHAVIA 102009 v
L d3aToN ‘diNNd WOVHEHAYIA ‘dvD | VINY0S08E €
! dINNd WOVYHAVYIA NOLLNE HSNd LNVLSISIH-IANLYOIT 90009 4
L dINNd WOVYHHAVIA ‘FAIFS (SV) LNVLSISTH-FINLYOIT 61108¢ b
"ALD NOILdI¥OS3a #1dvd | # 3Ll

Installation & Operation Manual

MAUB0€009 :N/d
H¥3H13901 d343ad0
9-€ S# W3LI NIHM

02508¢€ :N/d
d3H13901 d343ad0

N_<mm 9% G S# WALl NIHM

gdv83SOH '©30d 06 404 AdOg
NOLLNg HSNd 40 dv3d dv.1

NSO Av3yHL 3N1g
JdILTNN-GZY 31ILO0T 3SN

Behavioral Health Corner Lavatory

LRBCL-2030 Series

1Te1aQq uopng ysnd opewnaud ONIMvVYd

Page 35

TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 ¢ FAX (317) 875-0837
www.willoughby-ind.com

Willoughby Industries, Inc.

Rev. 12/2023



Installation & Operation Manual

Behavioral Health Corner Lavatory

LRBCL-2030 Series

140}

qaans| 0C/VC/L 433

A3y

v

Q3LON AGHONOTIIM
SY 1d30X3

QdVANvYLSs

Siiele 433

"OINO

NOISIATY

0-64110.

# Luvd

HOLIMS OZ31d LNV.1SIS3d 3d4N1VvOlT
adzd

EEL) —.”ﬁ :3vOS]
v Y 5 SIONVHITOL
euelpul ,w__Ochm_u:_
osa0/3uu] U] ‘SALISNpU] AqYSnoIA

VIN 001 :39VH3dINY NNINIXYIN
0d/JV SL10A 9€ :FOVLI0NA NNINIXVYIN
'S879 NVHL SS37:30404 NOILVNLOV
ONILNNOW dO4 1NN HLIM d3I1ddNs
1331S SSTTINIVLS VIFILVIN .
‘S31ON

SHOLO3INNOD 3AVdS FTVIATL J¥/L

WFIL-LO

QLD

(s1vi4.Q.
379n0q)
.8/

(ATNO 3ONIY343Y HOd
‘37v0S OL LON) SHOLOINNOD
HLIM SAv31IvOld10313 .i¢

[Tel2q uopng ysnd ojewnaud ONIMvVAd

TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 e FAX (317) 875-0837

Willoughby Industries, Inc.

Rev. 12/2023

Page 36

www.willoughby-ind.com



Behavioral Health Corner Lavatory
LRBCL-2030 Series Installation & Operation Manual

Warranty

Solid surface products are a homogenous blend of resins, mineral filler and colorant
manufactured for panels, molded and/or shaped products and components. Solid surface
products provide a luxurious appearance with the durability od stain proof, impact resistant,
burnresistant material with the ease of maintenance and cleaning.

Willoughby Industries, Inc. warrants to commercial and institutional purchasers only that each
unit will be free from defects in workmanship and materials under normal use and service upon
the following terms and conditions. The period during which components are warranted as follows:

1. Solid surface components are warranted for 2 years from date of shipment.
2. All other components warranted for 1 year from date of shipment.

This warranty does not cover installation or any other labor charges and does not apply to any
components damaged by accident, abuse, improper installation or improper maintenance. This
warranty does not cover any installation that did not comply with national, state and local building,
plumbing or electrical codes. The warranty is limited to replacing or repairing at manufacturer's option,
transportation charges prepaid by the purchaser, any component or part which upon our inspection
shall be deemed as defective within the limitations of this warranty. The replacement or repair of
defective units as stated in this warranty shall constitute the sole remedy of the purchaser and the
sole liability of Willoughby Industries, Inc. Willoughby Industries, Inc. shall not otherwise be liable
under any indirect damages caused by defects in the repair or replacement thereof.

This warranty only extends to commercial and industrial purchasers and does not extend to any
others, including consumer customers of commercial institutional purchasers. This warranty is in
lieu of all other warranties, expressed or implied, including implied warranty of merchantability or
fitness for a particular purpose or otherwise.

Willoughby Industries, Inc. TOLL FREE (800) 428-4065 ¢ LOCAL (317) 875-0830 e FAX (317) 875-0837
Rev. 12/2023 www.willoughby-ind.com Page 37




